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Section : General Knowledge

Q.1 9 F AP Rigia % fow e e F forga & wwE €1
Ans g 1. YR WHR AAIH, 1935

X 2. YRd WHR AfAFTH, 1919
X 3. YR Waaadn sifdfaad, 1947
X 4. YRd WHR HAFTH, 1909

Question ID :

Option 1 ID

Option 21D :

Option 3 ID

Option 4 ID :

Status

Chosen Option :

264330114763
1 264330451139
264330451138
1 264330451140
264330451137
: Answered

1

Q.2 Il &) pa T &1 =Y F, T 2022 F YR BT T T7 7915 3(FT HIA-TT AUT?
Ans X 1. XTeftq e SfeRTET AT ST (ReRIETE)

X 2. HUTiIST SR gard 3rgT (1)

X 3. Tuf fRareh weRTe! SieRfgha TaTs argt ()

o 4. SRR e siaRiia gars argT (freeh)

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

264330182956
264330717556
264330717558
264330717559
264330717557
Answered

4

Q.3 In which of the following years was the twelfth plan completed?
Ans X 1.2014

X 2.2016
o 3.2017
X 4.2015

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

264330110168
264330432952
264330432949
264330432951
264330432950
Answered

4




Q.4 Which of the following pairs is NOT correctly matched with respect to the player and

Ans

sport?

#5 1. Yogesh Kathuniya — Discuss throw
4 2. Bhavina Patel — Para-shooting

#< 3. Nishad Kumar — High jump

#< 4. LY Suhas — Para-badminton

Question ID : 264330118892
Option 1 ID : 264330466226
Option 2 ID : 264330466224
Option 3 ID : 264330466225
Option 4 ID : 264330466223
Status : Answered
Chosen Option : 3
Q.5 Under which function of the Union Budget does the Government of India build roads
and hospitals?
Ans X 1. Stabilisation
5 2. Redistribution
#< 3. Surplus generation
4 4. Allocation
Question ID : 264330113538
Option 11D : 264330446239
Option 2 ID : 264330446238
Option 3 ID : 264330446240
Option 4 ID : 264330446237
Status : Answered
Chosen Option : 4
Q.6 As per the CMIE’s report in December 2022, what was the unemployment rate of the
urban population in India?
Ans X 1.8.12%
& 2.10.09%
25 3.11.09%
X 4.12.03%
Question ID : 264330132754
Option 1 ID : 264330520114
Option 2 ID : 264330520111
Option 3 ID : 264330520113
Option 4 ID : 264330520112
Status : Answered
Chosen Option : 2




Q.7 Belgium won the Men's International Federation Hockey (FIH) 2018 World Cup, which

was held in
Ans X 1.Australia
& 2. India
& 3. Germany
< 4. Belgium
Question ID : 264330118464
Option 1 ID : 264330465258
Option 2 ID : 264330465257
Option 3 ID : 264330465259
Option 4 ID : 264330465260
Status : Answered
Chosen Option : 2
Q.8 Who among the following became the first Indian musician to be honoured with the
Ramon Magsaysay award, which is considered to be Asia's Nobel Prize?
Ans X 1.Lata Mangeshkar
¥ 2. MS Subbulakshmi
5 3. Pandit Ravi Shankar
& 4. Pandit Kumar Gandarva
Question ID : 264330113245
Option 1 ID : 264330445066
Option 2 ID : 264330445065
Option 3 ID : 264330445067
Option 4 ID : 264330445068
Status : Answered
Chosen Option : 3
Q.9 Which of the following organisations regulates international trade?
Ans X 1.UNICEF
#5 2. UNESCO
X 3.IMF
o 4. WTO
Question ID : 264330108911
Option 1 ID : 264330427923
Option 2 ID : 264330427922
Option 3 ID : 264330427921
Option 4 ID : 264330427924
Status : Answered
Chosen Option : 4
Q.10 YR ¥ ufddt adta &t A A $1 UEH I g1 F Suaed A g Aie gau &
SR =1 Y= 1 ud w=man <iran 32
Ans o 1. RISl gfRfen
X 2. HISTART gfofaT
X 3. 9raT GRIHt
X 4.7 gt
Question ID : 264330182994
Option 1 1D : 264330717709
Option 2 ID : 264330717708
Option 3 ID : 264330717710
Option 4 ID : 264330717711
Status : Answered
Chosen Option : 4




Q.11 From where does most of the refracted light rays enter the eyes?
Ans " 1. From the outer surface of the cornea
/< 2. From the outer surface of the retina
5 3. From the outer surface of the iris

5 4. From the inner surface of the cornea

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

264330135587
264330531248
264330531250
264330531247
264330531249
Answered

1

Q.12 FIfF PTEH RIHR fISar AR Gemaads T Ui TATT
Ans X 1.fag
& 2.gwtt
o 3. a0l
X 4R
Question ID : 264330106199
Option 1 1D : 264330417098
Option 2 ID : 264330417097
Option 3 ID : 264330417099
Option 4 ID : 264330417100
Status : Answered
Chosen Option : 3
Q.13 ¥He Pt R W Iy fyu=-ufug 991 a1 Jua &% 9o 21
Ans g 1. ST fAumEYT
2 2.9 & ST
X 3. gerHEt
X 4. YRd & Igufa
Question ID : 264330120194
Option 1 ID : 264330471033
Option 2 ID : 264330471032
Option 3 ID : 264330471034
Option 4 1D : 264330471031
Status : Answered
Chosen Option : 1
Q.14 fgfafaa A | SF-a1 e M Rigial & 3 & e ¥ Mifee & wu A ke
FRAT § 3R "B T | 39 Rigiall &) a0 A 31 I I Y& Ha1 82
Ans 71 3[Twc 37
X 2. 3Twq 38
X 3. 3T 39
X 4. 3¢ 36
Question ID : 264330118012
Option 1 1D : 264330463864
Option 2 ID : 264330463865
Option 3 ID : 264330463866
Option 4 ID : 264330463863
Status : Answered

Chosen Option :

1




Q.15 gfea wifd g1 uRuRYe Ot & s fFa R ao-ie o gerar faar mn?
Ans X 1. 9fd® Tt

X 2. 9\ gy At
o 3. IS Tt
X 4 @R Ed
Question ID : 264330174153
Option 1 ID : 264330683052
Option 2 ID : 264330683053
Option 3 ID : 264330683054
Option 4 ID : 264330683051
Status : Answered
Chosen Option : 4
Q.16 &ETGH 37, T A AEd 37, VI 3 91 e 31 31 i v o 32
Ans g 1. 390
X 2. vy HA
X 3. 3uxmyufd
X 4. gy (W)
Question ID : 264330110597
Option 11D : 264330434668
Option 2 ID : 264330434666
Option 3 ID : 264330434665
Option 4 ID : 264330434667
Status : Answered
Chosen Option : 1
Q.17 In which year did Lord Curzon arrive in India as Viceroy?
Ans X 1.1898
K 2.1891
" 3. 1899
X 4.1892
Question ID : 264330120152
Option 1 ID : 264330470865
Option 2 ID : 264330470863
Option 3 ID : 264330470866
Option 4 ID : 264330470864
Status : Answered
Chosen Option : 1
Q.18 1882 #, Rrariiftrea AR &1 g@ITad o =it forar war o
Ans X 1. TqIfeRR
X 2. DAl
o 3. &RR
X 4. 3T18EIG
Question ID : 264330114108
Option 1 1D : 264330448519
Option 2 ID : 264330448517
Option 3 ID : 264330448520
Option 4 ID : 264330448518
Status : Answered
Chosen Option : 2




Q.19 The amphibians of plant kingdom are
Ans X 1. Pteridophytes

«” 2. Bryophytes

X 3.Algae
5 4. Fungi
Question ID : 264330117593
Option 1 ID : 264330462398
Option 2 ID : 264330462397
Option 3 ID : 264330462399
Option 4 ID : 264330462400
Status : Answered
Chosen Option : 2
Q.20 Which unusual flavour is observed in dairy products due to the formation of ethyl
esters catalysed by esterases produced by lactic acid bacteria?
Ans X 1. Fishy flavour
& 2. Musty flavour
« 3. Fruity flavour
5 4. Bitty flavour
Question ID : 264330131005
Option 1 ID : 264330513131
Option 2 ID : 264330513133
Option 3 ID : 264330513132
Option 4 ID : 264330513134
Status : Answered
Chosen Option : 4
Q.21 frgferfEa & & Tr, YRd $t ST ara ol TR @Y auTer ¥ siafa T8 emar 82
Ans X' 1. SERREAT U 400 Hfad Ul km?
X 2. TR urferest, R fm enfe &t Sufufa
o 3. TTIflE 8 & @l g 75% 9 i SRiRe
2 4. 5000 eI B GAqH S
Question ID : 264330182968
Option 1 ID : 264330717604
Option 2 ID : 264330717605
Option 3 ID : 264330717606
Option 4 ID : 264330717607
Status : Answered
Chosen Option : 1
Q.22 Which crop is also known as ‘golden fibre’?
Ans X 1. Cotton
X 2. Wheat
X 3.Rice
" 4. Jute
Question ID : 264330183058
Option 1 ID : 264330717965
Option 2 ID : 264330717967
Option 3 ID : 264330717966
Option 4 ID : 264330717964
Status : Answered
Chosen Option : 4




Q.23 The ‘Infant Mortality Rate’ is defined as the number of deaths of infants aged less than

one year per live births in a given year.

Ans X 1.5000
«" 2. 1000
& 3.100
5 4.500
Question ID : 264330179270
Option 1 ID : 264330703086
Option 2 ID : 264330703085
Option 3 ID : 264330703083
Option 4 ID : 264330703084
Status : Answered
Chosen Option : 2
Q.24 HfeR aRgeer & i@ & 3 fFa Ad & Rrer 7 T3 Ha1 91ar 32
Ans 1. 3ffS
X 2.5fas
X 3.9 R
X 4.3
Question ID : 264330111856
Option 1 ID : 264330439509
Option 2 ID : 264330439511
Option 3 ID : 264330439510
Option 4 ID : 264330439512
Status : Answered
Chosen Option : 2
Q.25 Which of the following is NOT an amphibian animal?
Ans X 1. Salamander
& 2. Toad
" 3. Tortoise
5 4. Frog
Question ID : 26433064423
Option 1 ID : 264330252284
Option 2 ID : 264330252285
Option 3 ID : 264330252287
Option 4 ID : 264330252286
Status : Answered
Chosen Option : 1
Q.26 Which of the following authors has written the famous novel ‘Gulliver’s Travels’?
Ans X 1. Oscar Wilde
X 2. Samueal Richardson
" 3. Jonathan Swift
< 4. Ruskin Bond
Question ID : 26433066678
Option 1 ID : 264330261239
Option 2 ID : 264330261236
Option 3 ID : 264330261238
Option 4 ID : 264330261237
Status : Answered
Chosen Option : 4




Q.27 I Wepfal & faftr= wa & @ g
Ans g1 SIS Y

X 2. TR&®
X 3. Racs
X 4. QAT Hardpfaar
Question ID : 264330120133
Option 1 ID : 264330470787
Option 2 ID : 264330470789
Option 3 ID : 264330470790
Option 4 ID : 264330470788
Status : Answered
Chosen Option : 3
Q.28 FIERITE ATHT & ATH B & ?
Ans X' 1. Flgcalg DM
&K 2. 3gd Bold
o 3. 31sgd gHIg AR
X 4. RIEH
Question ID : 264330114842
Option 1 ID : 264330451455
Option 2 ID : 264330451453
Option 3 ID : 264330451454
Option 4 ID : 264330451456
Status : Answered
Chosen Option : 3
Q.29 Who was the author of ‘Raag Darbari’?
Ans X 1.Dharamvir Bharati
/5 2. Suryakant Tripathi ‘Nirala’
+ 3. Shrilal Shukla
< 4. Harivansh Rai Bachchan
Question ID : 26433086914
Option 1 ID : 264330341297
Option 2 ID : 264330341298
Option 3 ID : 264330341300
Option 4 ID : 264330341299
Status : Answered
Chosen Option : 4
Q.30 What is 25-Ponders with reference to the celebration at the Republic Day Parade?
Ans X 1. March-past by the Cavalry
" 2. Salute by seven canons of the Indian Army
#5 3. Salute to the National Flag by the President’s bodyguards
5 4. Presentation of the tableaus from different states
Question ID : 264330110459
Option 1 ID : 264330434113
Option 2 ID : 264330434114
Option 3 ID : 264330434115
Option 4 ID : 264330434116
Status : Answered
Chosen Option : 4




Q.31 Amaravati Stupa is located in which of these states?
Ans X 1. West Bengal

«# 2. Andhra Pradesh
< 3. Gujarat
/5 4. Madhya Pradesh

Question ID : 264330109322
Option 11D : 264330429566
Option 2 ID : 264330429567
Option 3 ID : 264330429568
Option 4 ID : 264330429565
Status : Answered
Chosen Option : 4
Q.32 Which female singer got the ‘Best Playback Singer (Female)’ award at the Filmfare
Awards 20227
Ans X 1. Shreya Ghoshal
#< 2. Priya Sariya
5 3. Neha Kakkar
o 4. Asees Kaur
Question ID : 264330113239
Option 1 ID : 264330445044
Option 2 ID : 264330445042
Option 3 ID : 264330445041
Option 4 ID : 264330445043
Status : Answered
Chosen Option : 3
Q.33 fmfafaa & 2 frae gay e ffud weaesa 3 32
Ans X 1. 9@ U (Alluvial fan)
5 2. &I (Playas)
X 3.YRSIT (Yardangs)
o 4 E'T:f (Horns)
Question ID : 264330131745
Option 1 ID : 264330516080
Option 2 ID : 264330516082
Option 3 ID : 264330516081
Option 4 ID : 264330516079
Status : Answered
Chosen Option : 2
Q.34 Which of the following Constitutional Amendment Acts made it a fundamental duty of
parents to educate their child?
Ans X' 1.88" Amendment Act
* 2. 87""Amendment Act
" 3. 86 Amendment Act
X 4.85" Amendment Act
Question ID : 264330110567
Option 1 ID : 264330434548
Option 2 ID : 264330434547
Option 3 ID : 264330434546
Option 4 ID : 264330434545
Status : Answered
Chosen Option : 3




Q.35 ‘Samagra Shiksha’, a scheme in the area of education subsumes the earlier schemes

Ans

pertaining to

«# 1. Sarva Shiksha Abhiyan, Rashtriya Madhyamik Shiksha Abhiyan and Teacher

Education only

#5 2. Sarva Shiksha Abhiyan and Rashtriya Madhyamik Shiksha Abhiyan only
#< 3. Sarva Shiksha Abhiyan only

< 4. Sarva Shiksha Abhiyan, Teacher Education and Rashtria Avishkar Abhiyan only

Question ID : 264330111778
Option 1 ID : 264330439200
Option 2 ID : 264330439198
Option 3 ID : 264330439197
Option 4 ID : 264330439199
Status : Answered
Chosen Option : 2
Q.36 In which year was the Right to Education (RTE) Act implemented?
Ans X 1.2009
o 2.2010
& 3.2015
X 4.2012
Question ID : 264330173490
Option 1 ID : 264330680439
Option 2 ID : 264330680440
Option 3 ID : 264330680442
Option 4 ID : 264330680441
Status : Answered
Chosen Option : 1
Q.37 YRd BT USHAT HIGAT JIS, HRd Tl HGTHSS B1 RITYT P ERT P TE At
Ans X 1. T §He
o 2. TR St AR
X 3. WIF Iag
X 4. Trfafes o
Question ID : 264330171705
Option 1 ID : 264330673426
Option 2 ID : 264330673423
Option 3 ID : 264330673424
Option 4 ID : 264330673425
Status : Answered
Chosen Option : 2
Q.38 Which of the following is a famous folk dance of Bihar?
Ans o 1. Jhijhiya
/5 2. Naga dance
5 3. Maharas
75 4. Khel gopal
Question ID : 264330109287
Option 1 ID : 264330429426
Option 2 ID : 264330429427
Option 3 ID : 264330429428
Option 4 ID : 264330429425
Status : Answered

Chosen Option :

1




Q.39 Who among the following is associated with Kathak?
Ans X 1.Kalamandalam Krishnan Nair

& 2. Nahid Siddiqui
#5 3.V Satyanarayana Sarma
X 4. Anokhelal Mishra

Question ID : 264330131310
Option 11D : 264330514353
Option 2 ID : 264330514352
Option 3 ID : 264330514354
Option 4 ID : 264330514351
Status : Answered
Chosen Option : 4
Q.40 urer a1 & yuTer 1 Frafofea # & few Tgge e A wRifor e ur?
Ans X 1. 3y fgdig
X 2. Tifde fgda
X 3. PUIYYH
o 4. 4d
Question ID : 264330183118
Option 11D : 264330718206
Option 2 ID : 264330718207
Option 3 ID : 264330718205
Option 4 ID : 264330718204
Status : Answered
Chosen Option : 3
Q.41 fmfifEa ¥ A f5a T 3 uRis AT 3141 Ura@ldl (Anna Paviova) ¥ 3R TR
I Har?
Ans X 1. fRydrred)
o 2. S0 SR s S
X 3. dHa oAl
X 4. arfeeft pomfd
Question ID : 26433086940
Option 1 ID : 264330341401
Option 2 ID : 264330341403
Option 3 ID : 264330341404
Option 4 ID : 264330341402
Status : Answered
Chosen Option : 4
Q.42 In which of the following years was Sati, the practice of widow-burning, banned in
India?
Ans X 1.1875
K 2.1819
X 3.1897
o 4. 1829
Question ID : 264330119020
Option 1 ID : 264330466737
Option 2 ID : 264330466735
Option 3 ID : 264330466738
Option 4 ID : 264330466736
Status : Answered
Chosen Option : 4




, marking the end of volcanic activity in the region.

Q.43 The thickness of the continental crust beneath the Central Himalayas is of the order of

Chosen Option :

Ans X 1.35-37 km
& 2.60-65km
X 3.50-63 km
o 4.70-72 km
Question ID : 264330114165
Option 1 ID : 264330448745
Option 2 ID : 264330448746
Option 3 ID : 264330448748
Option 4 ID : 264330448747
Status : Answered
Chosen Option : 1
Q.44 Tgelt § oiig WY &1 Fmfor FaferfEa # @ 5w Toe & ) §R1 HRamn T ur?
Ans X 1. 7Rt
o 2.7 d
5 3.y
X 4.0
Question ID : 264330119955
Option 1 ID : 264330470098
Option 2 ID : 264330470097
Option 3 ID : 264330470096
Option 4 ID : 264330470095
Status : Answered
Chosen Option : 3
Q.45 Which of the following measures is NOT related to the tax reform measures
undertaken during the liberalisation phase?
Ans X 1. Reduction in rates of income tax
" 2. Devaluation of Rupee
5 3. Reforms related to indirect taxes
#5 4. Simplification of tax procedures
Question ID : 264330111604
Option 1 ID : 264330438502
Option 2 ID : 264330438501
Option 3 ID : 264330438503
Option 4 ID : 264330438504
Status : Answered
Chosen Option : 3
Q.46 Fyfifa & & S-A1 373 AT Tl BT YU 72
Ans g1 TR
X 2. el
25 3. 9t
X 4.
Question ID : 264330176922
Option 1 ID : 264330693883
Option 2 ID : 264330693886
Option 3 ID : 264330693885
Option 4 ID : 264330693884
Status : Answered

1




Q.47 Which month marks the approximate arrival of the monsoon in India?
Ans X 1. Early January

«” 2. Early June
#$ 3. Early February
#5 4. Early October

Question ID : 264330174342
Option 1 ID : 264330683787
Option 2 ID : 264330683789
Option 3 ID : 264330683788
Option 4 ID : 264330683790
Status : Answered
Chosen Option : 2
Q.48 Which system was prevalent before the invention of money?
Ans X 1.Bretton woods system
< 2. Liquidity system
/5 3. Fiscal system
" 4. Barter system
Question ID : 264330120873
Option 1 ID : 264330473707
Option 2 ID : 264330473709
Option 3 ID : 264330473708
Option 4 ID : 264330473710
Status : Answered
Chosen Option : 4
Q.49 FHfIfEd § & S HHe 3 UYH J6P B AT BT 37
Ans X 1. YRd & AyUfd
X 2. ISTFHT & qUTITT
X 3. YRd & GYFHA
o 4. AIHIUT S8
Question ID : 264330177755
Option 1 ID : 264330697129
Option 2 ID : 264330697128
Option 3 ID : 264330697130
Option 4 ID : 264330697127
Status : Answered
Chosen Option : 4
Q.50 In which Olympics did Khashaba Jadhav, the first Indian win an individual Olympic
medal for India?
Ans X 1.1972 Munich Olympics
#5 2. 1948 London Olympics
" 3. 1952 Helsinki Olympics
45 4.1936 Berlin Olympics
Question ID : 264330119275
Option 1 ID : 264330467388
Option 2 ID : 264330467389
Option 3 ID : 264330467390
Option 4 ID : 264330467387
Status : Answered
Chosen Option : 3




Section : Reasoning

Q-1 yWhich two signs should be interchanged to make the following equation correct?

48+16%X24—-5+3=12
Ans X 1.+and x

X 2. +and +
X 3.-and +
o 4. +and x

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

264330101082
264330396873
264330396874
264330396875
264330396876
Answered

4




Q.2 Select a figure from amongst the four given options, which when placed in the blank

Ans

space of figure (X) would complete the pattern.

o 4.

PRIPKIKER!

Question ID

Option 2 ID

Option 4 ID

1264330113836
Option 11D :

264330447430

1264330447431
Option 31D :

264330447429

1264330447432
Status :
Chosen Option :

Answered
4




Q.3 Three different positions of the same dice are shown. Find the number on the face

opposite the face showing ‘5°.

4 3 4
5 5 2
5 1 1
Ans 1.6
K 24
X 3.1
X 4.3
Question ID : 264330106476
Option 1 ID : 264330418208
Option 2 ID : 264330418207
Option 3 ID : 264330418205
Option 4 ID : 264330418206
Status : Answered
Chosen Option : 1
Q.4 Six numbers, 21, 22, 23, 24, 25 and 26 are written on different faces of a dice. Three
positions of this dice are shown here. Find the number on the face opposite 26.
Ans X 1.23
o 2. 22
& 3.21
K 4.24
Question ID : 264330106412
Option 1 ID : 264330417951
Option 2 ID : 264330417950
Option 3 ID : 264330417949
Option 4 ID : 264330417952
Status : Answered
Chosen Option : 2




Q5 How many triangles are there in the given figure?

N

Ans X 1.12
X 2.14
" 3. 17
X 4. 15
Question ID : 26433078990
Option 11D : 264330309972
Option 2 ID : 264330309973
Option 3 ID : 264330309975
Option 4 ID : 264330309974
Status : Answered
Chosen Option : 3
Q.6 Select the word-pair that best represents a similar relationship to the one expressed in
the pair of words given below.
(The words must be considered as meaningful English words and must not be related
to each other based on the number of letters/number of consonants/vowels in the
word.)
False : Untrue
Ans  # 1. Trip : Journey
< 2. Fault : Line
#5 3. Higher : Hire
& 4. Blanket : Winter
Question ID : 26433053232
Option 1 ID : 264330208233
Option 2 ID : 264330208230
Option 3 ID : 264330208232
Option 4 ID : 264330208231
Status : Answered
Chosen Option : 4
Q.7 Anu, Geeta, Mittal, Radha, Hema and Kiriti were sitting around a circular table, facing
the centre. They were sitting at an equal distance from one another. Hema and Radha
were sitting exactly next to each other. Anu was to the immediate right of Kriti. Geeta
was to the immediate left of Hema. Mittal is to the immediate right of Radha. Who
among the following is sitting to the immediate left of Geeta?
Ans X 1.Hema
/< 2. Radha
« 3. Anu
X 4. Kriti
Question ID : 26433087007
Option 1 ID : 264330341669
Option 2 ID : 264330341670
Option 3 ID : 264330341671
Option 4 ID : 264330341672
Status : Answered
Chosen Option : 3




Q.8 Which figure should replace the g

uestion mark (?) if the series were to be continued?

L E O L E S B
T B 0 T
S B T L T 0

Ans T E
v S
B

T E

X 2. s
L

S E

X 3. T
B

B E

X 4. T
L

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

264330130819
264330512389
264330512388
264330512387
264330512390
Answered

1




Q.9 Select the correct mirror image of the given figure when the mirror is

Ans

placed at MN as shown below.

M

W F
a ia

X 2.

=z

JgilrF «q

|

> A

L d|k g g I

r <

Question ID :

Option 11D

Option 3 ID

264330117427

: 264330461749
Option 21D :

264330461751

1 264330461752
Option 4 ID :
Status :

Chosen Option :

264330461750
Answered
4




Q.10 Select the option that represents the letters that, when sequentially placed from left to

Ans

right in the blanks below, will complete the letter series.
W__SD_EAS_W_A_DWEA__

& 1. EAWESESD
& 2. EAWDSESD
& 3. EAWSEESD
«" 4. EAWDESSD

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

26433092543
264330363463
264330363462
264330363464
264330363461
Answered

4

Q.11 Select the figure from the given options that will replace the question mark (?) in the
figure given below to complete the pattern so that the final image is symmetrical.

Ans

?

Question ID :

Option 1 ID

Option 3 ID
Option 4 ID :
Status

Chosen Option :

264330114732

1264330451014
Option 21D :

264330451013

1264330451015

264330451016

: Answered

4




Q.12 Select the correct combination of mathematical signs to sequentially replace the *
signs and to balance the given equation.
18*90*3*27*8=0

Ans X 1.+ -, %, +
,W 2. =, X, + -
K 3.+, %, =, +
K4 x = + -
Question ID : 26433092504
Option 11D : 264330363305
Option 2 ID : 264330363308
Option 3 ID : 264330363306
Option 4 ID : 264330363307
Status : Answered
Chosen Option : 2
Q.13 Select the option that is related to the third term in the same way as the second term is
related to the first term and the sixth term is related to the fifth term.
20:205::75:7::105:1055
Ans X 1.720
K 2.750
& 3.785
" 4.755
Question ID : 264330101053
Option 11D : 264330396760
Option 2 ID : 264330396758
Option 3 ID : 264330396757
Option 4 ID : 264330396759
Status : Answered
Chosen Option : 4
Q.14 Select the set in which the numbers are related in the same way as are the numbers of
the following sets.
(NOTE: Operations should be performed on the whole numbers, without breaking
down the numbers into its constituent digits. E.g. 13 — Operations on 13 such as
adding/subtracting/multiplying etc. to 13 can be performed. Breaking down 13 into 1
and 3 and then performing mathematical operations on 1 and 3 is not allowed)
(24, 86, 67)
(39, 64, 71)
Ans X 1.(37,51,88)
o 2. (16,54, 43)
< 3.(18, 45, 63)
X 4.(28, 89, 117)
Question ID : 26433087215
Option 1 ID : 264330342497
Option 2 ID : 264330342500
Option 3 ID : 264330342498
Option 4 ID : 264330342499
Status : Answered
Chosen Option : 2




Q.15 Select the number from among the given options that can replace the question mark
(?) in the following series.

3,18, 63, 198, 603, ?
Ans X 1.1479

X 2.1200

X 3.1500

o 4.1818

Question ID : 264330109769
Option 11D : 264330431354
Option 2 ID : 264330431353
Option 3 ID : 264330431355
Option 4 ID : 264330431356
Status : Answered
Chosen Option : 4

Q.16 Select the correct mirror image of the given combination when the mirror is placed at
'PQ' as shown below.

P
A24GPK |

Q

" X N 9D PCY
x> 1 9D4SA
> NdDASA
~ JN9DBSA

Question ID : 264330129815
Option 11D : 264330508493
Option 2 ID : 264330508494
Option 3 ID : 264330508492
Option 4 ID : 264330508491
Status : Answered
Chosen Option : 4




Q17 Which figure from the given options would replace the question mark (?) if the

Ans

following figure series were to be continued?

0 Vv
8 N € 2 p 0O ?
2 8
P
o 1 O
2
P
X 2 D
2
2
X 3. O
'y
Vv
X 4

Question ID

Option 2 ID

Option 4 ID

Chosen Option

1 26433044933
Option 11D :

264330176170

1264330176168
Option 31D :

264330176167

1264330176169
Status :
1

Answered




Q.18 In a certain code language, ‘STAY’ is written as ‘2732221’ and ‘FROM’ is written a
‘“1517208’. How will ‘FIT’ be written in that language?

Ans X 1.6920

S

X 2.81221
& 3.11226
o 4.22118
Question ID : 26433089415
Option 11D : 264330351162
Option 2 ID : 264330351163
Option 3 ID : 264330351164
Option 4 ID : 264330351161
Status : Answered
Chosen Option : 4
Q.19 Which of the following option figures will complete the pattern in the figure given
below?
Ans
o 1.
X 2
X3 O
X 4. ; g
Question ID : 26433080617
Option 11D : 264330316404
Option 2 1D : 264330316401
Option 3 ID : 264330316403
Option 4 ID : 264330316402
Status : Answered

Chosen Option

1




Q.20 Select the option which when placed in the blank space of the given figure will
complete the pattern.

Ans

2

AALA

Question ID : 264330112984
Option 11D : 264330444024
Option 2 ID : 264330444021
Option 3 ID : 264330444023
Option 4 ID : 264330444022
Status : Answered
Chosen Option : 2




Q.21 Two statements are given followed by two conclusions numbered | and Il. Assuming
the statements to be true, even if they seem to be at variance with commonly known
facts, decide which of the conclusions logically follow(s) from the statements.
Statements:

Some camels are donkeys.
Some donkeys are cows.
Conclusions:

|. Some cows are camels.

1. Some donkeys are camels.

Ans X 1.Only conclusion | follows
< 2. Both conclusions | and Il follow
o

5 4. Neither conclusion | nor Il follows

Question ID :
Option 11D :

Option 2 ID

Option 4 ID

Q.22 Select the figure that will replace the question mark (?) in the following figure series.

Ans

Question ID :
Option 11D :

Option 2 ID

Option 4 ID

Chosen Option

26433068874
264330270008

1264330270010
Option 31D :

264330270009

1 264330270011
Status :
Chosen Option :

Answered
3

264330112028
264330440200

1264330440198
Option 31D :

264330440199

1 264330440197
Status :
12

Answered




Q.23 Six numbers, 5, 6, 7, 8, 9 and 10, are written on the different faces of a dice. Two
positions of this dice are shown in the given figure. Find the number on the face
opposite to 5.

OOy

Ans o 1.10

X 2.6
K 3.7
XK 4.9
Question ID : 264330116607
Option 11D : 264330458514
Option 2 ID : 264330458513
Option 3 ID : 264330458516
Option 4 ID : 264330458515
Status : Answered
Chosen Option : 1
Q.24 Select the correct mirror image of the given figure when the mirror is placed at MN as
shown below.
M
N
Ans x 1
-\439
v2X\>5%339
X3 £333d
X4 bEFKA
Question ID : 264330166653
Option 11D : 264330653651
Option 2 ID : 264330653653
Option 3 ID : 264330653652
Option 4 ID : 264330653654
Status : Answered
Chosen Option : 2




Q25 gix Jetters A, B, C, P, Q and R are written on different faces of a dice. Two
positions of this dice are shown in the figure. Find the letter on the face opposite

to A.
< o Q '
‘ B ‘ R ‘ A | c
Ans ' 1.B
X 2cC
X 3P
X 4R
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :
Chosen Option :

264330109203
264330429090
264330429092
264330429091
264330429089
Answered

1

Section : Numerical Ability

Q.1 If a man walks at five-sixth of his usual speed from his home towards his office, he is
20 minutes late. Find the usual time (in minutes) to cover the distance between his

home and his office.

Ans X 1.90
£ 2.105
" 3. 100
X 4.120
Question ID : 264330119427
Option 11D : 264330467997
Option 2 ID : 264330467998
Option 3 ID : 264330467995
Option 4 ID : 264330467996
Status : Answered
Chosen Option : 3
Q.2 y ; 37 1
Simplify 47 — X 4- X 24.
50 [
Ans X 1.4782.0
" 2.4774.0
< 3.4790.0
X 4.4762.0
Question ID : 264330111442
Option 11D : 264330437853
Option 2 ID : 264330437855
Option 3 ID : 264330437854
Option 4 ID : 264330437856
Status : Answered
Chosen Option : 2




Q.3 Aalone can build a house in 16 days, but B alone can build it in 12 days. A and B work
on alternate days. If A works on the first day, the house will be built in how many

days?
Ans 3
v 13>
4
<211 2
4
~ 310 3
4
3
X 4 15—
4
Question ID :
Option 1 ID
Option 2 ID :
Option 3 ID
Option 4 ID :
Status :
Chosen Option :

264330103678

1 264330407017

264330407018

1 264330407020

264330407019
Answered
1

Q.4 A shopkeeper purchased 12 dozen eggs at the rate of ¥60 per dozen. He sold the eggs
at ¥6 per piece. What was his profit percentage?

Ans X' 1. 2504

X 2. 15%

« 3. 20%

< 4 10%
Question ID : 264330104175
Option 11D : 264330409004
Option 2 ID : 264330409002
Option 3 ID : 264330409003
Option 4 ID : 264330409001

Status : Answered
Chosen Option : 3
Q.5 An isosceles right-angled triangle has hypotenuse length as 10 units. What is the area
of the triangle (in square units)?
Ans

X1 5042

2 25

X3 50

X 4 2542
Question ID : 264330126152
Option 1 ID : 264330494283
Option 2 ID : 264330494281
Option 3 ID : 264330494280
Option 4 ID : 264330494282

Status : Answered
Chosen Option : 3




G0 el o ¥ 18 wiieA W W S T W B 12229 Wil 1 7
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Ans X 1.80
&~ 2.82
o 3.98
5 4.100
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :
Chosen Option :

264330119506
264330468308
264330468309
264330468310
264330468307
Answered

1

Q7 fufafea & 3 fra ven agg A e $9 WS TSI 82
Ans X 1.30¥49d%

X 2.40% 60 AH

& 3.21 400D

X 4.60 % 80 A

Question ID :
Option 11D :
Option 21D :
Option 3D :
Option 4 1D :
Status :

Chosen Option :

264330105976
264330416206
264330416207
264330416205
264330416208
Answered

3

Q.8 The value of a machine, purchased 3 years ago, depreciates at the annual rate of 15%.
If its present value is ¥51,20,000, find its value after 4 years.

Ans o 1.%26,72,672
X 2.%27,62,267
X 3.%27,76,622
< 4.%26,67,722

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

264330104318
264330409573
264330409576
264330409574
264330409575
Answered

1




Q.9 Three solid cubes of sides 3 cm, 4 cm and 5 cm are melted to form a new solid cube.

Find the surface area (in cmz) of the cube so formed.

Ans X 1.343
K 2.125
" 3.216
&K 4.144
Question ID : 264330112444
Option 1 1D : 264330441864
Option 2 ID : 264330441862
Option 3 ID : 264330441863
Option 4 ID : 264330441861
Status : Answered
Chosen Option : 3
Q.10 An article is marked at a price which gives a profit of 20%. After allowing a certain
discount, the profit reduces to 10%. The discount percentage is:
Ans 1
v1 8-%
3
2
X2 giu
3
2
X3 729
3
1
X4 7-%
3
Question ID : 264330111466
Option 11D : 264330437952
Option 2 ID : 264330437951
Option 3 ID : 264330437950
Option 4 ID : 264330437949
Status : Answered
Chosen Option : 1
Q.11 The ratio of two numbers is 5:6. If their HCF is 8, what is the LCM of these two
numbers?
Ans X 1.480
& 2.120
" 3.240
5 4.360
Question ID : 264330103917
Option 1 ID : 264330407969
Option 2 ID : 264330407971
Option 3 ID : 264330407970
Option 4 ID : 264330407972
Status : Answered
Chosen Option : 3




Q.12 A sum of ¥18,910 is divided among Arjun, Raima and Sohan such that Arjun receives
20% less than Raima, while Sohan receives 25% more than Raima’s share. What is the

share (in ) of Sohan?
Ans 4 1.7,750

X 2.7,700
X 3.8,470
5 4.8,750
Question ID : 264330129994
Option 1 1D : 264330509208
Option 2 ID : 264330509207
Option 3 ID : 264330509210
Option 4 ID : 264330509209
Status : Answered
Chosen Option : 1
Q.13 The ratio of P’s salary to Q’s salary is 2 : 3. The ratio of Q’s salary to R’s salary is 4 : 5.
What will be the ratio of P’s salary to R’s salary?
Ans X 1.3:5
K 2.12:15
K 3.8:12
o 4.8:15
Question ID : 264330126578
Option 11D : 264330495984
Option 2 ID : 264330495987
Option 3 ID : 264330495986
Option 4 ID : 264330495985
Status : Answered
Chosen Option : 4
Q.14 In how much time will a sum of money double itself at a rate of simple interest of 5%
per annum?
Ans X 1.12years
5 2.10 years
o« 3. 20 years
X 4.18 years
Question ID : 264330182519
Option 11D : 264330715869
Option 2 ID : 264330715867
Option 3 ID : 264330715870
Option 4 ID : 264330715868
Status : Answered
Chosen Option : 3




Q.15 The average of a, b and c is 35 and the average of a, ¢ and d is 40. If d = 25, then find
the value of b.

Ans X 1.38
o 2.10
& 3.15
&K 4.22
Question ID : 264330130064
Option 1 1D : 264330509490
Option 2 ID : 264330509487
Option 3 ID : 264330509488
Option 4 ID : 264330509489
Status : Answered
Chosen Option : 2
Section : Computer Proficiency
Q.1 Which of the following functions in MS Excel 365, generates a real number greater
than 0 and is really simple and traditionally used for statistical analysis, cryptography,
gaming, gambling, and probability theory, among dozens of other things?
Ans & 1. RAND
X 2. AVERAGE
& 3.SUM
#5 4. VLOOKUP
Question ID : 264330180407
Option 1 ID : 264330707597
Option 2 ID : 264330707596
Option 3 ID : 264330707595
Option 4 ID : 264330707598
Status : Answered
Chosen Option : 4
Q.2 HTEHIFITE 98 365 (Microsoft Word 365) H T0RT URT ®Yd IHY, TfS Tidad # ugd I &t
TR Hie ? ot Rwiee sraeR w1 g1 82
Ans X 1. 0% fU U CRE & WY U =141 ST S|
¥ 2. T[ET TRe 3NRRTZE &Y el B
X 3. 20T B 3IRIZC B T FS B & S T B P [o1T YUl bl Tobd
(Prompt) il
o 4. U faan 717 SoRe HiS[eT TRE & 1Y TS gl ST g |
Question ID : 264330177681
Option 1 1D : 264330696841
Option 2 ID : 264330696839
Option 3 ID : 264330696842
Option 4 ID : 264330696840
Status : Answered
Chosen Option : 4




Q.3 In Microsoft Word 365, on which page is the header or the footer displayed by default?

Ans X 1.On first page
«" 2. On every page
#5 3.0n last page
#5 4. On middle page

Question ID : 264330182068
Option 1 ID : 264330714111
Option 2 ID : 264330714113
Option 3 ID : 264330714112
Option 4 ID : 264330714114
Status : Answered
Chosen Option : 1
Q.4 Which of the following shortcut keys is used to justify the text in MS Word 3657
Ans X 1.Ctrl+B
& 2.Ctrl +J
&K 3.Ctrl +1
K 4.Ctrl+U
Question ID : 264330180428
Option 11D : 264330707680
Option 2 ID : 264330707679
Option 3 ID : 264330707681
Option 4 ID : 264330707682
Status : Answered
Chosen Option : 2
Q.5 What is the primary purpose of a word processing package like Microsoft Word 365?
Ans X 1. Creating spreadsheets
#5 2. Designing presentations
4 3. Creating and editing documents
X 4. Sending emails
Question ID : 264330180741
Option 1 ID : 264330708932
Option 2 ID : 264330708933
Option 3 ID : 264330708934
Option 4 ID : 264330708931
Status : Answered
Chosen Option : 3
Q.6 By default, what number of emails in Gmail can be sorted that a user recently received.
Ans X 1.100
X 2.25
&K 3.75
o 4.50
Question ID : 264330178094
Option 1 ID : 264330698442
Option 2 ID : 264330698439
Option 3 ID : 264330698441
Option 4 ID : 264330698440
Status : Answered

Chosen Option :

1




Q.7 In MS Excel have a dollar sign ($) in front of the row number and/or column

letter.
Ans  «# 1. Both absolute reference and mixed reference

#5 2. Only mixed reference
5 3. Only absolute reference

5 4. Only relative reference

Question ID : 264330178253
Option 1 ID : 264330699070
Option 2 ID : 264330699069
Option 3 ID : 264330699067
Option 4 ID : 264330699068
Status : Answered
Chosen Option : 2
Q.8 Which of the following shortcut keys is used to get the Help Menu in MS-Word 365?
Ans 1. F1
& 2. Ctrl + F1
& 3.Alt+F1
5 4. Shift + F1
Question ID : 264330178291
Option 1 ID : 264330699222
Option 2 ID : 264330699219
Option 3 ID : 264330699221
Option 4 ID : 264330699220
Status : Answered
Chosen Option : 1
Q.9 Which of the following is the full form of GPRS?
Ans  # 1. General Packet Radio Service
/5 2. General Packet Release Service
#5 3. General Protocol Radio Service
#5 4. Group Packet Radio Service
Question ID : 264330180393
Option 1 ID : 264330707540
Option 2 ID : 264330707542
Option 3 ID : 264330707541
Option 4 ID : 264330707539
Status : Answered
Chosen Option : 1
Q.10 THTH TRIA 365 (MS Excel 365) H ®I§ WIHAT 7= B & forg fFafafaq & 3 fra udie
PT SUGRT far ST 82
Ans X 1.%
X 2.&
K 3.
o 4=
Question ID : 264330180822
Option 1 ID : 264330709254
Option 2 ID : 264330709251
Option 3 ID : 264330709253
Option 4 ID : 264330709252
Status : Answered
Chosen Option : 4
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